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QUESTION 1

Which static route next-hop value indicates that the packet will be silently dropped? 

A. resolve 

B. discard 

C. reject 

D. next-table 

Correct Answer: B 

 

QUESTION 2

Click the Exhibit button. 

Which statement is true about the configuration shown in the exhibit? 

A. The preference for the 172.30.25.1 next hop is 5. 

B. The preferred next hop is 172.30.25.5. 

C. The preference for the 172.30.25.1 next hop is 7. 
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D. 172.30.25.1 is the preferred next hop. 

Correct Answer: B 

 

QUESTION 3

When configuring firewall filters, which function does the interface-specific parameter enable on an EX Series switch? 

A. The interface-specific parameter is required to configure port-specific counters. 

B. The interface-specific parameter is required to configure VLAN-specific counters. 

C. The interface-specific parameter is required to configure VLAN-based filters. 

D. The interface-specific parameter is required to configure port-based firewall filters. 

Correct Answer: A 

 

QUESTION 4

Click the Exhibit button. 

Referring to the exhibit, what will be the IS-IS adjacency result of the configurations? 

A. No IS-IS adjacencies will form. 

B. A level 1 and level 2 IS-IS adjacency will form. 

C. A level 2 IS-IS adjacency will form. 
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D. A level 1 IS-IS adjacency will form. 

Correct Answer: A 

 

QUESTION 5

What are two reasons for configuring more than one VLAN on a switch? (Choose two.) 

A. A group of clients requires that security be applied to traffic entering or exiting the group\\'s devices. 

B. A group of devices must forward traffic across a WAN. 

C. A group of devices are connected to the same Layer 3 network. 

D. A group of clients requires that the group\\'s devices receive less broadcast traffic than they are currently receiving. 

Correct Answer: AD 
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